50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Mﬂ

a. Shat that W= log Z,Z#0is analytlc and hence find ‘(li‘zv (06 Marks)
b. (07 Marks)
c. Find the analytlc function f{; (07 Marks)
a. Show that an analyticf (06 Marks)
b. Ifflz)=u+ivis analytlc prove that
of @
[ | (Z)l:| [ — \}'”y (07 Marks)
c. Ifu-v=(xy) u+ivis analytlc function, if z=x + iy , find f(z) in
~ terms Qf‘zq - (07 Marks)
( y Module-2
a. State and prove Cauchy’s Integral formula (06 Marks)
b. Discuss the transformation:-W = €”. ~ (07 Marks)
¢. Find the Bilinear transformatlon wh1ch sends pom sZ=0, 1 ,00 into; the pomts W=-5-1,3
respectively. What are the (07 Marks)
1+ ’:'?v'»
a. Evaluate I ( 2 iy (06 Marks)
b sm nz’ + cos nz (07 Marks)

Evaluate’|,

-1, i, 1 onto the points
(07 Marks)

Module-3
sprobability function :
0|1 |23 |45 6 7

=

0 k(2] 2k [ 3k [ K [ 2K | K +k
Find 1) the value of k. 1ii) | P(x <6) iii)) P(x=6) iv) P(3< x <6). (06 Marks)
The probability that a pe’ Wnufactured by a company be defective is — 10 . If 12 such pens
are manufactured, what 1s ;the probability that i) Exactly 2 are defective ii) at least 2
are defective iii) /,none of them are defective. (07 Marks)
A sample of 100 battery cells tested to find the length of life produced the following results
X =12 hoursg,?‘c =3 hours. Assuming the data to be normally distributed what percentage
of battery cells: are expected to have life. i) more than 15 hours ii) less than 6 hours

iii) between’10 and 14 hours. [A(1)=0.3413 , A(2)=0.4772 , A(0.67)=0.2487].
(07 Marks)

=

o
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Define the following terms : ® @000

i) Null hypothesis i) Type—Iand Type 11 error 1i1) Level’éf significance.

\ 4 (06 Marks)

.ﬁom a population and thelr heights in inches are
71, 71. Test the hypothe51s that the mean height of
07 Marks)

the ratio 9:3:3:1. In an expe ent with 1600 beans the numbers in the four group were
882 , 313, 287 and 118.‘ Eoes the experimental result support the theory (at 5% level of
s1gmﬁcance for 3)? o) (07 Marks)
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